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o Purpose
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o Test Technique
- 2184 ) E ol we} uk-gste RES % o % 3},
- JDK 1.43+7 ©] Eclipse Juno°1] 4] JUnit= AF-8-3}o] 23 gkl

o Test Execution Environment

- Window 7 64bit
- Eclipse Juno with JDK 1.4
- JUnit

o Test Item
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o Features not to be Tested
- GUI ¥ 2§ A9
showWindow1()
paint()
- Data A2 25 A 9
get, set Functions

o Features to be Tested
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requestLoadCut()
requestBrushing()
requestSetLineSize()
requestSelectAreal()
requestCutOffArea()
requestPasteArea()

requestAddCut()
requestDelCut()
requestMergeCut()




Unit Test Specification




Test Design Specification

o requestLoadlmage()
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Test Design Specification

o requestSelectArea()

Clgemtifier | Feswre | Vame

SelectedTool A A SE L Y= ETF, 30 HAE
0. None
1. Brush
2. Eraser
3. Area

WTT.UTD.o4

o requestCutOffArea()

Clgemtifier | Femwre | Vame
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0. None
1. Brush
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Test Design Specification

o requestPasteArea()

Clgemtifier | Femwre | Vame

WTT.UTD.06 At.areastat g o] A3 A, B 7] F A3
pj.cuts A
SelectedTool AR AHEEH L Y= EF, 307 HASA Y}

o requestAddCut()

WTT.UTD.o7 pj.cuts A EE
cuts.cutstat 3 Ao] FA3) = Q=R o] B npx| et Aut B4 3}
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Test Design Specification

o requestDelCut()

_Identifier Feature Value
4

WTT.UTD.08 pj.cuts R EF Ao| 3}
cuts.cutstat 3| Aol FA3) =P =R o, ZA 3 H ] 9d A
9] tb A uk FA 3}
EnabledCutNum gA3ls Ao s

o requestMergeCut()

Identifier
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cuts.cutstat 33 A o] A3t P EA] o F, vpx] 2t Axtk A 3}
cuts.height 3|3 A o] 7kl 9l = o u] 2] 2] Eo]
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Test Case Specification

m Input Specification Output Specification

WTT.UTC.01.01 pj.cuts.size() = 0 pj-cuts.size() = 1
WTT.UTC.01.02 pj.cuts.size() = 1 pj.cuts.size() = 2
WTT.UTC.01.03 pj.cuts.size() = 2 pj.cuts.size() = 3
WTT.UTC.01.04 pj.cuts.size() = 3 pj.cuts.size() = 4

WTT.UTC.01.05 pj.cuts.size() = 999 pj-cuts.size() = 1000




Test Case Specification

Input Specification Output Specification

WTT.UTC.02.01 dt.linesize = 1, SelectedTool = 0 dt.linesize = 1, SelectedTool = 1
WTT.UTC.02.02 dt.linesize = 1, SelectedTool = 1 dt.linesize = 1, SelectedTool = 1
WTT.UTC.02.03 dt.linesize = 1, SelectedTool = 2 dt.linesize = 1, SelectedTool = 1
WTT.UTC.02.04 dt.linesize = 1, SelectedTool = 3 dt.linesize = 1, SelectedTool = 1
WTT.UTC.02.06 dt.linesize = 5, SelectedTool = 0 dt.linesize = 5, SelectedTool = 1
WTT.UTC.02.07 dt.linesize = 5, SelectedTool = 1 dt.linesize = 5, SelectedTool = 1
WTT.UTC.02.08 dt.linesize = 5, SelectedTool = 2 dt.linesize = 5, SelectedTool = 1

WTT.UTC.02.09 dt.linesize = 5, SelectedTool = 3 dt.linesize = 5, SelectedTool = 1




Test Case Specification

Input Specification Output Specification

WTT.UTC.03.01 size = 1, this.size = 5, dt.linesize = 5 this.size = 1, dt.linesize = 1
WTT.UTC.03.02 size = 1, this.size = 1, dt.linesize = 5 this.size = 1, dt.linesize = 1
WTT.UTC.03.03 size = 1, this.size = 1, dt.linesize = 1 this.size = 1, dt.linesize = 1
WTT.UTC.03.04 size = 1, this.size = 5, dt.linesize = 1 this.size = 1, dt.linesize = 1
WTT.UTC.03.05 size = 5, this.size = 5, dt.linesize = 5 this.size = 5, dt.linesize = 5
WTT.UTC.03.06 size = 5, this.size = 1, dt.linesize = 5 this.size = 5, dt.linesize = 5
WTT.UTC.03.07 size = 5, this.size = 1, dt.linesize = 1 this.size = 5, dt.linesize = 5

WTT.UTC.03.08 size = 5, this.size = 5, dt.linesize = 1 this.size = 5, dt.linesize = 5




Test Case Specification

m Input Specification Output Specification

WTT.UTC.04.01 SelectedTool = 0 SelectedTool = 3
WTT.UTC.04.02 SelectedTool =1 SelectedTool = 3
WTT.UTC.04.03 SelectedTool = 2 SelectedTool = 3

WTT.UTC.04.04 SelectedTool = 3 SelectedTool = 3




Test Case Specification

Input Specification Output Specification

WTT.UTC.05.01 at.areastat = true, SelectedTool = 0 at.areastat = false, SelectedTool = 0
WTT.UTC.05.02 at.areastat = true, SelectedTool = 1 at.areastat = false, SelectedTool = 0
WTT.UTC.05.03 at.areastat = true, SelectedTool = 2 at.areastat = false, SelectedTool = 0
WTT.UTC.05.04 at.areastat = true, SelectedTool = 3 at.areastat = false, SelectedTool = 0
WTT.UTC.05.05 at.areastat = false, SelectedTool = 0 at.areastat = false, SelectedTool = 0
WTT.UTC.05.06 at.areastat = false, SelectedTool = 1 at.areastat = false, SelectedTool = 0
WTT.UTC.05.07 at.areastat = false, SelectedTool = 2 at.areastat = false, SelectedTool = 0

WTT.UTC.05.08 at.areastat = false, SelectedTool = 3 at.areastat = false, SelectedTool = 0




Test Case Specification

Input Specification Output Specification

WTT.UTC.06.01 at.areastat = true, SelectedTool = 0 at.areastat = true, SelectedTool = 3
WTT.UTC.06.02 at.areastat = true, SelectedTool = 1 at.areastat = true, SelectedTool = 3
WTT.UTC.06.03 at.areastat = true, SelectedTool = 2 at.areastat = true, SelectedTool = 3
WTT.UTC.06.04 at.areastat = true, SelectedTool = 3 at.areastat = true, SelectedTool = 3
WTT.UTC.06.05 at.areastat = false, SelectedTool = 0 at.areastat = true, SelectedTool = 3
WTT.UTC.06.06 at.areastat = false, SelectedTool = 1 at.areastat = true, SelectedTool = 3
WTT.UTC.06.07 at.areastat = false, SelectedTool = 2 at.areastat = true, SelectedTool = 3

WTT.UTC.06.08 at.areastat = false, SelectedTool = 3 at.areastat = true, SelectedTool = 3




Test Case Specification

Input Specification Output Specification

pj.cuts.size() = o, pj.cuts.size() = 1,

VRICDIC L0771 pj.cuts.get(EnabledCutNum).cutstat = err  pj.cuts.get(1).cutstat = true

pj.cuts.size() = 1, pj.cuts.size() = 2,

-UTC.07.02 pj.cuts.get(EnabledCutNum).cutstat = true  pj.cuts.get(2).cutstat = true

pj-cuts.size() = 2, pj.cuts.size() = 3,

-UTC.07.03 pj.cuts.get(EnabledCutNum).cutstat = true  pj.cuts.get(3).cutstat = true

pj.cuts.size() = 3, pj.cuts.size() = 4,

-UTC.07.04 pj.cuts.get(EnabledCutNum).cutstat = true  pj.cuts.get(4).cutstat = true

WTT.UTC.07.05 pj.cuts.size() = 999, pj.cuts.size() = 1000,

pj.cuts.get(EnabledCutNum).cutstat = true  pj.cuts.get(1000).cutstat = true




Test Case Specification

Input Specification Output Specification

pj.cuts.size() = 0, pj.cuts.size() = 0,

RECEES o pj.cuts.get(EnabledCutNum).cutstat = err ~ pj.cuts.get(0).cutstat = err

pj.cuts.size() = 1, pj.cuts.size() = o,

RELEECLS o pj.cuts.get(EnabledCutNum).cutstat = true  pj.cuts.get(0).cutstat = err

pj-cuts.size() = 2, pj.cuts.size() = 3,

RELEHCoS s pj.cuts.get(EnabledCutNum).cutstat = true  pj.cuts.get(3).cutstat = true

pj.cuts.size() = 3, pj.cuts.size() = 4,

REHC o o pj.cuts.get(EnabledCutNum).cutstat = true  pj.cuts.get(4).cutstat = true

WTT.UTC.08.05 pj.cuts.size() = 999, pj.cuts.size() = 998,

pj.cuts.get(EnabledCutNum).cutstat = true  pj.cuts.get(998).cutstat = true




Test Case Specification

WTT.UTC.09.01

WTT.UTC.09.02

WTT.UTC.09.03

WTT.UTC.09.04

WTT.UTC.09.05

pj.cuts.size() = o,
pj.cuts.get(EnabledCutNum).cutstat = err
pj.cuts.get(EnabledCutNum).height = err

pj.cuts.size() = 1,
pj.cuts.get(EnabledCutNum).cutstat = true
pj.cuts.get(EnabledCutNum).height = 500

pj.cuts.size() = 2,
pj.cuts.get(EnabledCutNum).cutstat = true
pj.cuts.get(EnabledCutNum).height = 500

pj.cuts.size() = 3,
pj.cuts.get(EnabledCutNum).cutstat = true
pj.cuts.get(EnabledCutNum).height = 500

pj.cuts.size() = 999,
pj.cuts.get(EnabledCutNum).cutstat = true

pj.cuts.get(EnabledCutNum).height = 500

pj.cuts.size() = o,
pj.cuts.get(0).cutstat = err
pj.cuts.get(EnabledCutNum).height = err

pj.cuts.size() = 2,
pj.cuts.get(2).cutstat = true
pj.cuts.get(EnabledCutNum).height > 500

pj.cuts.size() = 3,
pj-cuts.get(3).cutstat = true
pj.cuts.get(EnabledCutNum).height > 500

pj.cuts.size() = 4,
pj.cuts.get(4).cutstat = true
pj.cuts.get(EnabledCutNum).height > 500

pj.cuts.size() = 1000,
pj.cuts.get(1000).cutstat = true
pj.cuts.get(EnabledCutNum).height > 500



Unit Test Report




-
Unit Test Report

{g Package Explorer 'giu JUnit &3 = 0

R I S =R

Finished after 6.513 seconds

77 Interface java [J] Brush.java )] Project.java [J] InterfaceTestjava 52 | [J] Cutjava
Runs: 9/9 B Errors: O B Failures: 1 }
L

@Test
public wvoid testRequestSetLineSize() {
Interface IF = new Interface();

4 'ET_| InterfaceTest [Runner: JUnit 4] (6.500 s)
g testRequestloadimage (6.008 <)
£E] testRequestBrushing (0.012 5)
E testRequestsetlineSize (0.017 s5)
E testRequestSelectirea (0.014 5)
E testrequestCutOffArea (0.085 <)
tE] testRequestPastedrea (0.057 )
tE] testRequestAddCut (0.021 5
E testRequestDelCut (0.015
gE] testRequestMergeCut (0.266 <)

IF.zize = 5;
IF.dt.linesize = 5;
IF.requestSetlineSize(l1);

assertEquals(IF.size, 1);
assertEquals(IF.dt.linesize, 1};

IF.zize = 1;

IF.dt.linesize = 5;
IF.requestSetlineSize(l);
assertEquals(IF.size, 1);
assertEquals(IF.dt.linesize, 1);

IF.size = 1;

IF.dt.linesize = 1;
IF.requestSetlineSize(l);
assertEquals(IF.size, 1);
assertEquals(IF.dt.linesize, 1);

IF.size = 53

IF.dt.linesize = 1;
IF.requestSetlinesize(l);
agssertEquals(IF.size, 1);
agssertEquals(IF.dt.linesize, 1);
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Failure Trace =&

java.lang.AssertionError: expected:<5= but was <1=
at InterfaceTest testRequestSetlineSize(InterfaceTest.

.=
[=L =]




